Roll No. Code No. PC(H)-071

FOURTH SEMESTER EXAMINATION 2021-22

Class-B.Com./B.Com. Computer
Subject - Specialized Accounting

Time : 2.30 Hrs. Max. Marks : 80
Total No. of Printed Page : 08 Mini. Marks : 28

ukV & 1*u 1= rhu [k.Mk e: folkDr g A BHkh rhu [k.Mk di 1"u funi*ku Bkj gy
dnft; A vdk dk folkktu 1R;d [k-M e fnjk X;k g A

Note: Question paper is divided into three sections. Attempt question of all three section
as per direction. Distribution of Marks is given in each section.

[K.M & "/* Section - 'A"

IR;d bdkb &' nk 1"u gy dift; A
Attempt two questions from each unit.
virymrrjh; 1°u] "kCn Bhek 30 "kink eA (10x2=20)

Very short answer question (word limit 30 words.)

bdkb & T / Unit -1

1. HPbd AWM T ?
What is Gross Profit ?
2. g4 A9 faqvor a7 © ?

What is Common size statement ?

3. orgad fageryor &l iR fd M | ST Wi & 2

What is the other name for Vertical Analysis ?
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10.

11.

12.

2

bdkb & II / Unit -1

AN &7 T8 °

What is a Cost Centre ?

TRT H I 9T BT IS IHRoT fbd a9 § foar wam o ?

In which year was General Insurance nationalised in India ?

AMTT T B B X9 @i # R iR Wifdee forar Sirar ® 2

On which side is premium recorded in the Revenue account of General Insurance

Company ?

bdkb! & IIT / Unit -TIT

3[E NI @Il 91 7 ?

What is Net Revenue account ?

goft @raT gd AT faeer § aar ofdv § 7

What is the difference between Capital Account and General Balance Sheet ?

Y & e | @y aref g ?

What is meant by Disposal of Profit ?

bdkb & TV / Unit -1V

PHT TR aRad=T a1 § ?
Whatis 'Price Level Changes' ?

fosl ura Aifgs 9gi & 9 9d18Y |

Name any five monetary items.

AT FHTE ol ¥ Ugad el <l dfsed & M oy |

Name any two models used in Human Resource Accounting.
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bdkb & V / Unit -V

13. Gug o fou fdad w=me ?

What are Bills for collection ?

14. TS GRT 47 € ?
What is Cash Credit ?

15. g fHRIAT S FHY T BT 8 99 AMBR Yoob DI RN HH 8 FIT I8
HAT TA T 7

Is it true that minimum rent is payable when the amount of royalty is less ?
[k.M & c* Section - 'B'
yAmRrjh; 1"u %'Cn Bhek 60 "kCni
Short answer question (words limit 60 words) 5x6=30

IHO 1"u gy dhft;A

Attempt all questions.

bdkb & T / Unit -1

16.  Ugfcd faweryor 7 7 ?

What is Trend Analysis ?

VFkok@OR

facia AR &7 e &1 9uie B |

Discuss the limitations of financial statements.
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17.

18.

19.

(4)

bdkb & IT / Unit -IT

SNSRI brgl bl IIHTHROT DI |

Enumerate classification of Responsibility Centres.
VFkok@OR
AR 1 wHEl § REgRET Aot ¥ Heatad am forRag |

Write the rules related with security margin in the case of General Insurance

Companies.

bdkb! & IIT / Unit -TIT

fg—orar Ugfd & Tvey IgeeT 4T § 7

What are the main objects of Double account system ?

VFkok@OR

faSTell gfch Su= 7 goll SR &l IR BT IT0ET DA B Sl 2 2

How is the amount of capital base calculated in electric supply companies ?

bdkb & IV / Unit -1V

=1 o] &1 TR 7 -

The following information are given:
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01.01.2001 31.12.2001

Rs. Rs.
g (Cash) 5,000 10,000
<FeR (Debtors) 20,000 25,000
JFER (Creditors) 15,000 20,000
<7 f3aT (Bills Payable) 20,000 20,000

Price Indes No./®Hd Jehidh

1 59T 2001 (01.01.2001) = 200

31 fagwR 2001 (31.12.2001) = 300

2001 &7 3AId FaADbih

(Average for 2001) = 240

g Hifad &9 AT BT B TN BT |

Calculate net monetary gains or losses.

VFkok@OR

AT FHTEA & Hedid dl UfaeTie arrd A 3R geems drTd fafer b
ARAT BT |

Explain the Historical Cost and Replacement Cost method of valuing human

resources.

bdkb & V / Unit -V

20. IR—dfhTT Fufeqal dem rar Belfadl bl W BT |

Explain non-banking assets and unexpired discount.

VFkok@OR
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(6)
Y—@R Ud USCaR Bl YIId! ¥ AMNBR Yob & ey H 9T Yol grafeedr o
SRl ® ?

What journal entries are passed in the books of Landlord and Lessee regarding

royalties ?

[K.M & "I* Section -'C’

N2KMRrjh; 1"u&
Long answer question: 2x15=30
futukfdr e: I fdUgh nk 1"uk dk gy dhft;A

Attempt any two questions from the following:-
bdkb' & T / Unit -I

21. QW faAcs & 771 i freal | 31 /1€ 2012 AT 2013 BT JATTHD ATH
ferest daR ISR, RraH sifam TR o oy & wu § & |
From the following Balance Sheet of Usha Ltd. on 31st March 2012 and 2013

prepare a comperative Balance Sheet resulting final amount in the form of

shareholders fund :-
Balance Sheet
(ason 31stMarch 2012 and 2013
Liabilities 2012 2013 Assets 2012 2013
Rs. Rs. Rs. Rs.

=Te] TR 2,00,000 |4,00,000 | =Tef Hufcd 5,00,000 | 9,00,000
(Current Liabilities) (Current Assets)
Fad (Reserves) 3,00,000 |2,00,000 | fR—=Te HUfd | 10,00,000 | 15,00,000
10% kT (10% Loan) 5,00,000 | 8,00,000 | (Non CurrentAssets)
39T gl 5,00,000 |10,00,000
(Share Capital)

15,00,000 |24,00,000 15,00,000 {24,00,000
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22.

23.

24.

()
bdkb & IT / Unit -IT

fFr=Tifra faaRor | Q1 AT Xd=] @IdT 31 A/ 2002 S FAT 8F dTel a9 &
forg a8y —
From the following particulars prepare Fire Insurance Revenue account for the

year ending 31st March 2002 :

Rs.
aral BT YA T (Claims Paid) 2,40,000
W Ut far (Premium Received) 6,00,000
gﬂ‘sﬁm YIFHT¥ (Reinsurance Premium) 60,000
HHIT (Commission) 1,00,000
U§el <Od (Management Expenses) 1,50,000
AT SIIRgH & folT T 01.04.2001
(Provision for Unexpired Risk 10.04.2001) 2,60,000
3T&wd &Td 01.04.2001 (Claims unpaid 01.04.2001) 20,000
e ST 31.03.2002 (Claims unpaid 31.03.2022) 35,000

Y & A H g UITHIH BT 50% SRIATG SIIRIH & oIy qawerr ST |

Make Provision for Unexpired Risk at the end of the year at 50% of net premium.
bdkb: & IIT / Unit -I11

QIERT oIl YUTell Ud SdhasT ofdl Ugfd # 3ok 918y | Nod Bu+l # gofl uif
TG A o &I ISRVl Afed Yoy SIS |

Differentiate between Double Account System and Single Account System. Give
the format of Receipts and Expenditure on Capital A/c of Railway Company with

examples.

bdkb & IV / Unit -1V

fframT /r € ? fAfrT & =Tt |fed Ud &are ’fed sa der fasha o &9 |
RN &1 AT Hed 6 Tl SIar & 2 ISTER0 |igd We I |
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25.

)

What is Investment ? How is the cost of investment found out in the case of cum-

Interest and Ex-interest purchase and sale of investment. Explain with example.

bdkb & V / Unit -V

UHh DI B! FfeIRad oral IR I | Udh @E &I Ul 10 a91 & forg
ol ® —
(i) =IATH =TT 40000 6. AVE & S 2 %6, URY T & AMBR Yo H el S
g qem (i) =1 wrat & orefie oy e il wiasy @ o | e @ S Ahdh!
g — (@1 Rer ORI R M & T &1 Had M 99T 39 s & ol
SUINT # AR S 9T & iR (@) afe fhd g Seres 10,000 1 & & I
g a1 U oY S R 9 TRl B S Fahell 2 |

T IR d81 H IUTG HHAT: 8000 T, 12000 T, 16000 T AT 28000 €
o7 | BRI HUAT B JEIDI H 3D W TAR DI |

A Colliery Company acquired the lease of mine for 10 years from Ramesh on the

following terms :
()  Minimum Rent, merging into a Royalty of Rs. 2 per ton, is Rs. 40000 p.a. and
(i) Shortworkings are recoverable out of future earning subject to :
(@) only half of the excess earnings over deadvent may be used for this
prupose and
(b) No shortworkings may be recouped if output falls below 10,000 tons in
any year.
Output of the first four years was 8000 tons, 12000 tons, 16000 tons and
28000 tons respectively.

Prepare necessary Ledger accounts in the books of Colliery Company.

--00--
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